Resuelve las siguientes inecuaciones:
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3r—9>0 Sol: (3,400)

4 —20 < 0 Sol: (—o0,5)

S524+3>2r+6 Sol: (=3, 400)

10 -3z <4x —4 Sol: (2, 400)

2(5—T7x) > 52 Sol: (—o0, —3]

32 —1)+1< —13 -5z Sol: (—o0, —1)

10 > 4dr — % Sol: (—o00,2)

6z2—022 — 10242 > 2:c1—014 _ Log-12 Sol: (—o0, —3]

: %1’ + 2l < 23—6 Sol: (—o0,3)
3(4Z_7) -£> %1’ — % Sol: [0, +00)
Beb5 _ 5-2r o a-12 Sol: (—o0, —2]
12. 47% — 2“;3 > —% Sol: (—o0,5)

280 4 122 > 19-20 Sol: (—o0, —2]
2?2 —T7r+10>0 Sol: (—00,2) U (5,400)
22 —Tr+6<0 Sol: (1,6)
2?2 —Tr+12>0 Sol: (—o0, 3] U [4, 4+00)
—8r < —a?—15 Sol: [3, 5]
622 > 12 Sol: (—00,0) U (2, +00)
—27x < —1222 Sol: [0, 9]
—22%2 — 102 —8 >0 Sol: (—4,—1)
—(z+2)2+3x <2(—2%+1) Sol: [~2, 3]
T—3+2-7<0 Sol: ¢
% >0 Sol: (—o0, —3) U (2, 400)
23— 222 — 32 <0 Sol: (—o0,—1) U (0,3)
xt 4222 — 323 >0 Sol: (—o0, 1] U [2,+00)
Zhe 5 Sol: (—1,0) U (2, 4+00)
(22 +1)(x—1)>0 Sol: (1,+400)
(2% — 3)(z% — 52+ 6) <0 Sol: (—v/3,/3) U (2,3)
4zt +2224+1>0 Sol: R
223 + 512 —4x —3>0 Sol: (=3,—%) U (1,+00)
%:13 >0 Sol: (—o0, —1) U [3, +00)
Zle=8a® 3y 1) Sol: (1, 400)
@+)(@*—9248) g Gol: [1, 8§
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2* 2025046 _ Sol: (1,3) U (-2,-1)

a1
LS <0 Sol: (—2,—1) U (1,3)
ZSetl Sol: (5,7) U (—=2,1)
P28 > ) Sol: (—o00, —2] U (—1,1) U [4, +00)
22 —62+9>0 Sol: (—00,3) U (3, +00)
322+ 52 —-2<0 Sol: [—2, £]
22422 >0 Sol: (—o0, —2) U (0, +00)
224+1<0 Sol: No tiene solucién.
(z—3)3 <4 Sol: (—00,25 + 3]
32?2 —1)=5(x—-2)<0 Sol: No tiene solucién.
22 —7>-3(x—1) Sol: (—o0, —=5] U [2, 4+00)
2+ i <z -2 Sol: No tiene solucioén.
2(5 — 2?%) > 3z Sol: (—3,11;1,61)
% > % Sol: No tiene solucién.
i—j >0 Sol: (—o0, —1) U (3,400)
2=l < Sol: (0, 3]
2?ded Sol: (—1,0) U (4, 4+00)
e e Sol: (=00, —2) U (—1,2) U (3, +00)
5z —3(1 —4x) < 4z — 1 Sol: (—o0, &]
53”3_2—3”7_32%_2+%9 Sol: (—o0, 0]
72x—1)—3x<2(x+1)—9 Sol: (—o0, 0]
3z —T)+2z <5(x—-1) Sol: (—o0, +00)
4Bz —1) b <7(x —1)+3 Sol: ¢
3:1:—9”?%2 > %—5*75" Sol: (—%—8,—1—0@)
(x —2)(x+1) > 18 Sol: (—o0, —4] U [5, 4+00)
922 —6x+1<0 Sol: {3}
23> (z-2)(x+7)+17 Sol: (—12,-1)





